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X |KEBECc)| KEBCCc) | HBUKE [ FiR 48 B&
48 = 18.6 12.5 =IE BE me mR
68 i 28.9 20.5 =IE BE me mR
8H 58 28.5 27.5 == BE me mR
108 i 24.0 19.0 == BE k- mR
128 M5 16.4 10.5 =E BE Zef - R mR
2B ® 9.0 65 =B B B me
4ERIBER 3
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/l) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHIE(75%1E) - 10 1.2(1.6) 2 15000
48] 75 10 16 1 3000
6A] 78 9.8 0.8 1 5000
8A| 78 7.6 0.8 7 80000
10A] 78 9.7 0.8 1 3000
128 77 12 1.3 <1 500
28 74 12 1.7 <1 800
BFEER
NI INESDS & £ ANEvaL | #HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 001 LT | FE#RHE | 0.01LLF [ 0.05LLF [0.01LLF [ 0.0005ELF
E{E - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
;| - - - - - -
ooandl ..o .= [1,2->700[1,1->saa|YA-1,2->-0a[1,1,1-r)50
PCB 2y ekl Iy IFLY OTFLY oT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] ERH 100200 TF ] 0.002LLF | 0.004LLF | 002LLF [ 0.04LLF 1LF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
;| - - - - - -
1,1,2-ky4 [RUo0A(Fr5500x(1,3->9an — . —sen FARA
AAT4Y | IFLY | FLY Jaxy | TU7L| YUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#{E]0.006LLF[0.03LLF| 0.01LLF [ 0.002ELF [0.006 LA F| 0.003LLF | 0.02LLF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#&E| 001LLF [001LLF| 10LUTF 0.8LLF 1LLF
i - - - - -
4R - - - - -
68 - - - - -
8A - - - - -
10A - - - - -
128 - - - - -
28 - - - - -
ZDHIEER
N—~F4 RILLTIL
g ZER S il £ | yAAKRILL SEp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.83 0.015 — 0.010 — -
4R - 0.76 0.011 - 0.008 - -
6H - 0.78 0.013 - <0.005 - -
8H - 0.79 0.034 - 0.022 - -
108 - 0.93 0.014 - 0.011 - -
128 - 0.91 0.008 - <0.005 - -
28 - 0.79 0.011 - 0.007 - -
Bieh WIHERE (B : —
IT/=| xS cobD g > AR BREER
(mg/D | (mg/1) (mg/1) (mg/1) (mg/1) (B (uS/cm)
FiHiE - - 1.8 - - - 160
47 - - 2.0 - - - 110
68 - - 1.6 - - - 120
8H — - 2.9 - - - 200
10A - - 1.7 - - - 130
128 - - 1.4 - - - 170
2H - - 1.4 - - - 230
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J o3 3 = 4=
o 5 J\IERE | A4 =531
(HyR) | J® A
—i1ER
Xz |[SUECC) [ KiE(°C) | HEEUKE i =i BR
48 = 19.1 13.0 == BE me |
68 i 29.0 21.0 =IE BE me |
8H 551 285 28.0 =IE BE me |
108 i 25.0 19.0 == BE k- mR
128 M5 17.4 10.5 == BE x| - R mR
28 & 9.5 7.0 == BE ) M
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 6.5~85 | 715LLE 2000F [ 25BLF | 1000BLF
EHIE (75%1E) - 10 1.1(1.6) 1 29000
48] 77 10 16 1 1700
6A] 78 9.7 0.7 1 5000
8H| 78 7.7 0.9 2 80000
108] 76 95 1.1 1 80000
128] 79 12 1.8 <1 3000
2A] 74 13 0.7 <1 3000
BEEE
AREHL| 2IT7Y R AEIOL | HMFE BiKE |[7L¥ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E] 001LATF | FEEH | 0.01LLF | 0.05LLF | 0.01LLF | 0.0005LLF JERH
TiHE - - - - - - -
48 - - - - - - -
68 - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - =
SoanA . .. [1.2-2550801,1-Ssaa[ 2 R-1,2-55a(1,1,1-k)50
PCB "7, = | MEERR | " 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] JERH 00200 0.002LLF | 0.004LLF | 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
48 - - - - - - -
68 - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
11.2-h)5 [FS0RA(FS9aRI(1,3-U500 = S 35e FAAUH
onzsy | TFLY | FLy | Fasy | TIIA| ¥RYY %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 {E10.006 L[ 0.03LLF | 0.01LLF [ 0.002LLF 10.006LLF| 0.003LLF 0.02LLF
Ty - - - - - - -
48 - - - - - - -
68 - - - - - - -
8A - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1T
EEZS - - - - -
agl - - - - -
;] - - - -
8Al - - - - -
10H - - - - -
12H - - - - -
2A] - = = = =
EDHIEE
N—~%4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
F{E - 0.86 0.021 - 0.008 - -
4R - 0.91 0.020 - 0.005 - -
6H - 0.85 0.022 - <0.005 - -
8H - 0.60 0.039 - 0.012 - -
10A - 0.93 0.018 - 0.014 - -
12H - 1.0 0.015 - 0.007 - -
2R - 0.86 0.012 — 0.005 — -
BiLH HHERYE | VB . R
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
F{E - - 2.0 - - - 150
4R - - 1.9 - - - 120
64 - - 1.8 - - - 130
S H - - 3.1 - - - 200
10A - - 2.2 - - - 120
12H - - 1.6 - - - 180
28 - — 1.5 — — — 160




T RR204E

EFE | A aE
R4
(HyR) | J® A
— g1 B
Xz |KURCC)| KE(C) | EEEKE iR =Xz R
48 = 20.0 13.5 =IE BE me mR
68 i 30.8 19.5 == BE Zef - R mR
8H i 33.0 29.5 =RIE BE Zef - R mR
108 i 26.0 19.0 == BE Zf-mh mR
128 5 19.0 13.0 == BE Zef - R mR
28 B 115 8.0 RE BE Ztath -5 mR
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 65~85 ] 715LLE 2000F [ 25BLF | 1000BLF
EHE(75%1E) - 10 1.6(2.0) 2 27000
48] 78 10 1.9 4 2300
6A|l 719 9.7 1.2 2 8000
8A| 18 8.7 1.2 3 8000
10A| 8o 9.6 0.9 A 140000
12A] 8o 11 2.0 1 3000
2A] 716 12 2.5 1 3000
RBEIER
NP INESD o) ANEvOL | #E ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#RE | 001LLF | 005LLF | 0.01LLF | 0.0005LLF JERRH
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -
SHoanA . .. [1.2-570801,1-Ssaa[ 2 R-1,2-55a(1,1,1-F)50
PCB "7, ~| MEERR |\ " 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El EH/E [002LLF | 0.002L8LF | 0.004LLF | 0028 F [ 0.04LLF 1LLF
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,1,2-ky4 |[RUo0A(Fr54500I(1,3->9an — . —sen FARA
AAT4Y | IFLY | FLY Jaxy | TU7LA| YUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E[0.006 L F0.03LLF | 001LLF | 0.002LLF [0.006LLF[ 0.003LLF 0.02LLF
TiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -




(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~F+ FILLTIL
Ummmeg| TEXR £ i 2@ | yoORILL FER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 2.6 0.057 - 0.012 - -
4R - 2.6 0.085 - 0.009 - -
64 - 3.0 0.055 - 0.005 - -
8A - 1.5 0.029 - 0.015 - -
10A - 3.0 0.057 - 0.015 - -
124 - 3.2 0.081 - 0.009 - -
2R - 2.3 0.032 — 0.017 — —
BiLH HHERYE | VB : o i (= S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHEl - - 3.4 - - - 240
4R - - 3.2 - - - 270
64 - - 3.8 - - - 200
8A - - 3.6 - - - 200
10H - - 3.1 - - - 270
12H - - 2.8 - - - 320
28 - - 3.7 — — — 200




T RR204E

5 E%%H% A4 =6l
(BER) | #® A
—iR1ER
Xz | SUECC) [ KiE(°C) | FEUKE iR =i BR
48 = 22.9 14.0 =IE BE me mR
68 i 32.8 215 =IE BE me mR
8H 58 27.5 28.0 == BE me mR
108 i 26.0 20.0 =IE BE i) mR
128 5 18.9 11.5 =IE BE me mR
28 & 8.0 7.0 == BE ) M
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHIE (75%1E) - 10 1.2(1.4) 2 5700
48] 78 10 1.2 2 1300
6A| 78 9.0 0.9 2 7000
8A|l 16 7.9 1.3 6 11000
10A] 78 95 1.1 2 13000
12A8] 719 12 1.4 <1 500
2A] 715 12 15 <1 1300
BEEE
N INESS & ) NS ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.058LF | 0.01ELF | 0.0005ELF JERH
B3] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SoanA .o .. [1.2-2550801,1-Ssaa[ 2 X-1,2-55a(1,1,1-F)50
PCB "7, ~| MEERR |\ 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] JERE 00280 F ] 0.002LLF | 0.004LLF | 0.02ELF | 0.04LLF 1LF
SE{E] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
6| <0.0005 [ <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
8A - - - - - - -
10A] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
28 - - - - - - -
1,1,2-;y4 MY AaAFrS200x|1,3-o49Aan — . o sed FARH
anzsy | TFLY | FLy | Fasy |TOIA| ¥RYY NI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 {E]0.006 L[ 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF 0.02LLF
EfE[ <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.76 <0.1 <0.1
4H] <o0.001 <0.001 0.73 <0.1 <0.1
6A] <0.001 <0.001 0.65 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.85 <0.1 <0.1
12H] <0.001 <0.001 0.82 <0.1 <0.1
2R - - - - -
EDHIEE
N SR | 28 @ | 2E® | saofus [T
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 1.1 0.030 - 0.009 <0.001 <0.008
4R - 0.96 0.021 - 0.006 <0.001 <0.008
64 - 1.5 0.026 - <0.005 <0.001 <0.008
8A - 0.75 0.072 - 0.014 - -
10H - 1.0 0.024 - 0.019 <0.001 <0.008
12H - 1.1 0.021 - 0.005 <0.001 <0.008
28 - 1.2 0.014 — <0.005 — —
BiLH HHERYE | VU s Repp——
IT/=| xS coD el > AE EXizEx
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 45 2.3 <0.01 - - 170
4H| <0.02 31 1.8 <0.01 - - 120
6A] <0.02 49 2.0 <0.01 - - 140
8A - - 4.1 - - - 190
10H]| <0.02 47 2.5 <0.01 - - 110
12H]| <0.02 53 1.9 <0.01 - - 180
28 - — 1.5 — — — 260




T RR204E

BE | A4 =l
ih 4
(#HEhm) | @\R A
—{%IE B
X |[KEBECc)| KEBCCc) | HMBUKE [ FiR 48 B&
48 £ 21.1 14.5 xE B FEE e mE
68 i 31.3 22.0 =RE BE x| - R wmR
8H i 33.0 30.0 =RE BE x| - R mR
108 i 25.0 20.0 =RE BE R - % mR
128 M5 18.3 13.5 =E BE Fef - R mR
2R i 9.5 8.5 xE BE IREAR - % BER
4ERIBIER 3
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/1) | (MPN/100ml)
=%(E]| 6.5~85 | 15LLE 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.8 1.2(1.6) 3 22000
48] 76 10 16 4 30000
6A] 78 9.1 0.9 5 30000
s8A| 74 8.2 0.7 2 5000
108 756 95 <05 3 14000
128] 78 11 1.7 2 30000
28 15 11 1.5 1 24000
BFEER
NI INESDS & o ANEvaL | #HME fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 001 LT | JE#RHE | 0.01LLF [ 0.05LLF [0.01LLF [ 0.0005ELF e
E{E - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -
sSHoanA .o .. [1.2-570801,1-Ssaa[ 2 X-1,2-55a(1,1,1-k)50
PCB "7, ~| BEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] ERH 100280 TF ] 0.002LLF | 0.004LLF | 002LLF [ 0.04LLF 1LF
E{E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2R - - - - - - -
1,1,2-ky4 [RUo0A(Fr54500I(1,3->9an — . —sen FARA
AAT4Y | IFLY | FLY Jaxy | TU7L| YUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#{E]0.006LLF[0.03LLF| 0.01LLF [ 0.002ELF [0.006 LA F| 0.003LLF | 0.02LLF
E{E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 1.4 0.071 - 0.011 - -
4R - 1.2 0.050 - 0.005 - -
64 - 1.4 0.082 - <0.005 - -
8A - 1.7 0.099 - 0.027 - -
10H - 1.3 0.062 - 0.014 - -
12H - 1.4 0.082 - <0.005 - -
28 — 1.4 0.048 — 0.008 — —
BiLH HHERYE | VB : e i s
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHEl - - 2.7 - - = 210
4R - - 2.2 - - - 150
64 - - 2.8 - - - 230
8A - - 3.9 - - - 270
10H - - 2.5 - - - 130
12H - - 2.4 - - - 280
28 - - 2.1 — — — 220




